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1. Acorkscrew is a very useful
wine.
(A) yacht (B) gadget (C) capsule (D) barge

for opening bottles of

2. The customs the whole cargo.
(A) persecuted (B) prosecuted
(C) concerned (D) impounded

3. can raise productivity and offer bountiful opportunities
for a better life .
(A) Incentives (B) Creativity (C) Originality (D) Inspiration

4. The villagers’ lives were in during the blizzard.
(A) comfort (B) ecstasy (C) pleasure (D) jeopardy

is caused because the body clock does not readjust
immediately to the time change.
(A) Jet lag (B) Pneumonia (C) Diabetes (D) Obesity

6. The book stands out as one of the notable in the
progress of modern science.

(A) notification (B) upticks (C) peaks (D) landmarks

7. Government money was spent on new investments rather
than
(A) maintain (B) maintenance (C) detain (D) detention
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